# ect Office of the Executive Engineer (JSD)P.H.E Division Awantipora

E-Mail ID: phedivisionawantipora@gmail.com

No.PHA/Awp/ 5708 - 13 Dated: 3-12-2022

/S AJS Constructions Group

M.D.:Nazir Ahmad Bhat

S/o Ab Jabbar Bhat

R/o : Mandoora Tral

Reg. No.: CE/I&FC/Srinagar/85 ( Eight Five) / AAY ( Civil & Sanitary) / 2017-18

GST No. 01ABKFA0554G PAN No. ABKFA0554G

Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Reserviour, Chowkidar Quarter, chain link fencing, sluice chamber, Separate Toilet Block, Anchor Block under JJM

- Refrence:- 1.Your tender in response to this office E-NIT No. 32/PHA of 2022-23 ( e- tendering) issued under endorsement No.PHA/Awp/3036-46 dated:- 16.08.2022,Tender ID :2022\_PHE\_184323\_\_1
  - 2.Tech. Sanction No. CE/PHE/DB/509 of 9/2022 dated:- 09.09.2022
  - 3. Chief Engineer Kmr, Jal Shakti (PHE) Deptt. Srinagar's No. CE/PHE/MC/DB/13745-83 dated:- 26-7-2022
  - 4. Minutes of Meeting DJJM Pulwama held on 02/11/2022 endorsed vide No. 4854-62 dated: 04/11/2022.
  - 5. Superintending Engineer Hydl Circle Pulwama H.Q Shopian's Authorization No. SE/Hyd/Spn/DB/5682-83 dated:- 06.12.2022

For on behalf of lieutenant Governor of Union Territory of Jammu & Kashmir, contract for above mentioned work is hereby fixed with you at the following quoted rates, terms conditions.

#### Advertised Cost:-Rs 152.056lacs

## Alloted Cost:- Rs 138.143lacs

(Rupees one crore thirty eight lacs fourteen thousand and three hundred )only

				24 24	W-14 04:	Alloted	Amount		
S.No	. Particulars of items	Unit	Qty	Rate	in figures	in Words			
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: All kinds of soil (1 meter from cutting edge).	cum	5725.94	396.11	2268079.19	Rupees TwentyTwo Lakh SixtyEight Thousand SeventyNine Paise Nineteen Only			
2	Earthwork in excavation by mechanical means in all kinds of soil	cum	1937.75	171.48	332284.1589	Rupees Three Lakh ThirtyTwo Thousand Two Hundred EightyFour Paise Sixteen Only			
	Laying & fitting of G.I. pipes (Light) complete excluding cost of pipes and pipe fittings 100 mm Dia (P/F of Flanges)	joint	484	1135.63	549642.5	Rupees Five Lakh FourtyNine Thousand Six Hundred FourtyTwo Paise Fifty Only			
2.02	30 mm Dia (P/F of Flanges)	joint	403	999.35	402738.05	Rupees Four Lakh Two Thousand Seven Hundred ThirtyEight Paise Five Chly			

Revised & acupited 2022

Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service

Reserviour , Chowkidar Quarter, chain link fencing , sluice chamber ,Separate Toilet

Block, Anchor Block under IIM

	Block, Anchor Block under JJM					
2.03		joint	403	908.50	366125.5	Rupees Three Lakh SixtySix Thousand One Hundred TwentyFive Paise Fifty Only
2.04	50 mm	RM	3400.00	37.07	126027.12	Rupees One Lakh TwentySix Thousand TwentySeven Paise Twelve Only
2.05	40 mm	RM	5400.00	37.07	200160.72	Rupees Two Lakh One Hundred Sixty Paise SeventyTwo Only
2.06	25 mm	RM	4300.00	27.85	119735.7575	Rupees One Lakh Nineteen Thousand Seven Hundred ThirtyFive Paise SeventySix Only
2.07	20 mm	RM	5000.00	18.40	91985.625	Rupees NinetyOne Thousand Nine Hundred EightyFive Paise SixtyThree Only
2.08	15 mm	RM	3000.00	18.40	55191.375	Rupees FiftyFive Thousand One Hundred NinetyOne Paise
3	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete 25 to 40 mm nominal bore	each	83.00	605.29	50238.91438	Rupees Fifty Thousand Two Hundred ThirtyEight Paise NinetyOne Only
	Filling available excavated earth (excluding rock) in tenches	cum	4616.38	180.52	833344.0704	ThirtyThree Thousand Three Hundred
_	Carriage of different materials from different sources to dumping site of work by Mechanical Transport Pipe from Avg Lead of 35Kms	MT	80.47	445.27	35831.09073	Rupees ThirryFive Thousand Eight Hundred ThirtyOne Paise Nine Only
6	Extra Carriage of different materials from dumping site to actual site of work by manual labouro 1000 Mtr	МТ	80.47	898.63	72312.90682	Rupees SeventyTwo Thousand Three Hundred Twelve Paise NinetyOne
	extra carriage for 100 mm dia pipe (1000 mtr lead)	Mti	3000.00	14.25	42752.193	Only  Rupees FourtyTwo Thousand Seven Hundred FiftyTwo Paiss Nineteen Only
o lb	roviding & Laying of stone soling (dully hand acked)including watering dressing and ramming with all arriages loading un-loading and stacking etc complete	Cur	n 791,91	560.0	0 443469,124	Rupees Four Lakh

Ken r

## pject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Berviour , Chowkidar Quarter, chain link fencing , sluice chamber ,Separate Toilet Block, Anchor Block under JJM

	P	Block, Anchor Block under JJM					T		Runees	Three Lakh
9	Provi	iding & laying in position cement concrete of specified e excld. The cost of centring and shuttering all work upto the level (1:4:8 coarse sand 40mm nominal size crushed	Cum	80	.13	4416.98	3539	932.3748	FiftyThr	ee Thousand dred ThirtyTwo rrtySeven Only
10	Prov	viding & laying in position cement concrete of specified deexeld. The cost of centring and shuttering (1:1.5:3	Cum	1	3.71	7087.35	309	9788.0784	Thou	hree Lakh Nine hsand Seven ad EightyEight e Eight Only
	coa	orse sand 20mm nominal size crushed stone agg.) orment conc. Work in shuttering in 1:2:4 20mm stone agg.	Cum	1	26.00	5873.63	3 74	0077.3368	Fou	es Seven Lakh rty Thousand ntySeven Paise rtyFour Only
	Re	einforced cement conc. Work in beams, suspended floors oofs having slope upto 15 deg. Landing balconies, shelves, intels upto floor 5 level excld. Centring, shuttering in 1:2:4	Cur	m	2.31	6340.1	3 14	4645.69161	Thous Fo Si	pees Fourteen and Six Hundred urtyFive Paise ixtyNine Only
	2 P	20mm stone agg. Nominal size Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:3:6 coarse sand 20mm nominal size crushed	O Cu	ım	21.09	4940.	19 1	104188.5394	4 Thou Ei	es One Lakh Four sand One Hundred ghtyEight Paise FiftyFour Only
		stone agg.)  Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering (1:2:4 coars and 20mm nominal size crushed stone agg.)	se C	tum	113.59	5873	.68	667191.268	Six One Pais	tupees Six Lakh tySeven Thousand Hundred NinetyOne e TwentySeven Only
	15	P/L in position specified grade of reinforced cement centre excld. The cost of centring, shuttering, finishing and reinforcement-All work upto plinth level. 1:1.5:3 graded stone agg. 20mm nominal size	ete	Cum	50.18	1 054	7.29	428903.04	Tu	Rupees Four Lakh ventyEight Thousand line Hundred Three Paise Four Only
	16	Reinforced cement concrete work in beams, suspended floors, rose having slope upto 15°, landings, balconies, shelves, chajjas, lintels bands, plain window sills, staircases and spiral stair cases upto floofive level excluding the cost of centring, shuttering, finishing and reinforcement with 1:1.5:3 (1 cement: 1.5 coarse sand: 3 grading statement)	or	Cum	6.44	89	48.13	57625.98	3602 T	Rupees FiftySeven Thousand Six Hundred TwentyFive Paise NinetyNine Only
	1	Brick work with FPS bricks of class designation 75 in four & plinth in cement mortar 1:6 (1 cement, 6 coarse sand)	ndtion	Cum	53.	22 5	617.94	298986	.6005	Rupees Two Lakh NinetyEight Thousand Nine Hundred EightySix Paise Sixty Only
	-	Extra for brick work in super structure above plinth leve floor V Level(by manual means)	el upto	Cur		3.22	1202.54		.96725	Rupees SixtyThree Thousand Nine Hundred NinetyEight Paise NinetySeven Only
		Centring and shuttering incld. Strutting, proping etc & of form work fo	rem <b>ov</b>	al Sq	m 84	15.34	238.3	AND ARREST MARKET AND ARREST	14.1416 Vk	Rupees Two Lakh One Thousand Four Hundred FourtyFour Paise Fourteen Only

Xen

Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Reserviour, Chowkidar Quarter, chain link fencing, sluice chamber, Separate Toilet

Rupees Nines Block, Anchor Block under JJM Thousand One H FourtyOne Paige 91141.13518 521.34 174.82 Fourteen Only Sam 19.01 Walls any thickness Rupees FourtyFour Thousand Six Hundred 44662.12892 SixtyTwo Paise Thirteen 1895.68 23.56 Sqm Only 19.02 Dome Rupees One Lakh ThirtyFive Thousand 135502.5524 Five Hundred Two Paise 916.18 147.90 Sqm FiftyFive Only 19.03 Extra for circular shuttering Rupees Five Lakh TwentyFour Thousand Nine Hundred Reinforcement for RCC work incld straightning, cutting, 524975.0942 79.20 SeventyFive Paise Nine 6628.60 bending, placing in position & binding all complete (Thermo-Kg Only mechanically treated bars) Rupees Eleven Lakh NinetyFive Thousand 1195916.841 14177.32 84.35 Nine Hundred Sixteen Kg Structural steel for Posts including priming coat complete 21 Paise EightyFour Only Rupees Four Lakh EightyFive Thousand P/F of Chain Link fencing 50 x 50 mesh spacing including One Hundred 485128.098 728.00 666.38 Sam 22 priming coat TwentyEight Paise Ten Only Rupees Fifteen Thousand Providing & Fixing 1 mm thick MS Sheet door with frame of Three Hundred 15344.06169 23 40x40x6 mm angle iron and 3 mm MS gasset plate at junctions Sqm 3.88 3954.66 FourtyFour Paise Six and corners all complete Only Rupees NinetyThree Providing wood work in frames of doors, windows, clerestory Thousand Six Hundred 93678.33493 24 windows & other frames, wrought framed & fixed in position 83641.37 Cum 1.12 SeventyEight Paise 2nd class kail wood ThirtyThree Only Providing & fixing panelled or panelled & glazed shutters for Rupees FiftyNine doors & windows and clerestory windows including ISImarked Thousand Two Hundred black enamelled M.S Butt hingeswith necessary screws 21.07 2810.72 59221.81351 Sam TwentyOne Paise excluding panelling Second class Kail (imported wood)35mm EightyOne Only Rupees Eight Thousand Providing & fixing decorative plywood B/S decorative veneer Sqm 3.74 2144.92 8022.012301 TwentyTwo Paise One (Type 1) confirming to IS 1328 BWR type Only Providing CGS sheet roofing fixed with polymer coated J or L hooks bolts & nuts 8mm dia with bitumen & GI limpet Rupees FourtyTwo washers upto( a pitch of 60 degree) excld cost of perlins, 48.66 Sqm 864.71 42076.8032 Thousand SeventySix rafters & tresses 0.63mm thick with zinc coating not less than Paise Eighty Only 275g/sqm Providing ridges of hips of width 60cm overall width plain GS sheets Rupees Seventeen fixed with polymer coated J or L hooks bolts & nuts 8mm dia GI limpet Thousand Two Hundred Rm 27.43 628.09 17228.54916 & bitumen washers complete 0.63mm thick with zinc coating not less TwentyEight Paise than 275g/sqm c FiftyFive Only

-Allotme Reserviou

Sul

1 2

3

4) 5) 6) Oilet

Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Reserviour , Chowkidar Quarter, chain link fencing , sluice chamber ,Separate Toilet Block, Anchor Block under JJM

and a second	15mm Cement Plaster on the rough side of single or half brick wall of mix 1:6(1 cement:6 fine sand)	Sqm	93.21	253.11	23592.206	Rupees TwentyThree Thousand Five Hundred NinetyTwo Paise TwentyOne Only
30	Distempring with oil bound washable distemper of approved brand & manufacture to give an even shade New work (2 or more coats)over and incld. Priming coat with cement primer	Sqm	93.21	135.41	12621.74553	Rupees Twelve Thousand Six Hundred TwentyOne Paise SeventyFive Only
31	Painting with ready mixed Synthetic enemal paint or approved brand & manufacture in all shades to give an even shade NEW steel work (Two or more coats)	Sqm	441.00	110.79	48859.08458	Rupees FourtyEight Thousand Eight Hundred FiftyNine Paise Eight Only
32	Finishing walls with water proofing cement paint of approved brand and manufacture &of rqd shade to give an even shade New work (2or more coats)applied @3.84kg /10sqm	Sqm	72.49	83.40	6045.687747	Rupees Six Thousand FourtyFive Paise SixtyNine Only
33	Providing glass panes 10kg/sqm (4mm thick)windows and clerestory window shutters (Area of opening for glass panes excld portion inside shall be measured)	Sqm	9.84	852.85	8392.08705	Rupees Eight Thousand Three Hundred NinetyTwo Paise Nine Only
34	Cement Concrete flooring 1:2:4 (1 cement: 2 coarse sand: 4 graded stone agg) finished with a floating coat of neat cement incld. cement slurry but excld the cost of nosing of steps etc complete 50mm thick with 20mm n/s stone agg crushed	Sqm	20.07	458.79	9207.965475	Rupees Nine Thousand Two Hundred Seven Paise NinetySeven Only
35	Providing and Fixing glass strips in joints of cement concrete floors 40mm wide and 4mm thick	Rm	36.59	62.01	2268.767524	Rupees Two Thousand Two Hundred SixtyEight Paise SeventySeven Only
36	Cutting of road and making good the same incl. supply of extended agg., moorum, Screening, red bajri and labour required.  Bitumen	Cum	15.60	3057.65	47699.30256	Rupees FourtySeven Thousand Six Hundred NinetyNine Paise Thirty Only
3	7 WBM	Cum	44.07	1788.16	78803.99636	Rupees SeventyEight Thousand Eight Hundred Four Only
3	12mm Cement Plaster finished with a floating coat of neat cement of mix 1:4(1 cement:4 fine sand)	Sqm	462.34	259.88	120153.366	Rupees One Lakh Twenty Thousand One Hundred FiftyThree Paise ThirtySeven Only
3	Providing & fixing of 40x5mm flat iron hold fast 40cm long including fixing to frameswith 10mm dia bolts nuts &wooden plugs and embedding in cement conc block 30x10x5cm 1:3:6mix (1cement:3coarse sand:6 graded st agg)20mm nominal size	B No	32.00	148.13	4740.1896	Rupees Four Thousand Seven Hundred Fourty Paise Nineteen Only
4	Making plinth protection 50mm thick of cement concrete 1:3:6 (1 cement : 3 coarse sand : 6 graded stone aggregate 20mm nominal size) over 75mm bed of dry brick ballast 40mm nominal size well rammed, consolidated and grouted with fine sand including finishing the top smooth	ng Sqr	n 3.16	496.33	3 1568.4082	Rupees One Thousand Five Hundred SixtyEight Paise FourtyOne Only

J. Xen m

									for Constru
ul	bject	ĸes	otment for Construction of WSS Dadsara serviour, Chowkidar Quarter, chain link fen	by wa	y of lay	/ing/ chan	/ fitting nber ,Se	g ,Service eparate Toi	let  Ribock Two Tree Construction  Solve Construction  Ribock And Chount
_		Blo	ock, Anchor Block under Jivi	No	32.00		0.85	2907.2	Rupees Two Thousand Nine Hundred Seven Paise Twenty Only
			mm Handles	No	18.00	9	00.85	1635.3	Rupees One Thousand Six Hundred ThirtyFive Paise Thirty Only
	43	L Dro	ор	No	3.00	4:	54.25	1362.75	Rupees One Thousand Three Hundred SixtyTwo Paise SeventyFive Only
	44	Dry	y rubble masonry with hard stone in foundation & plinth ng quarry stone with bond stones	Cum	58.53	- 1	268.98	132803.3262	Rupees One Lakh ThirtyTwo Thousand Eight Hundred Three Paise ThirtyThree Only
	45	; Pro	oviding and fixing soil waste pipes (10Ft Long) 100mm dia /C B Class	Rm	20.00		317.98	6359.5	Rupees Six Thousand Three Hundred FiftyNine Paise Fifty Only
	46	6 Pr	roviding and fixing vent pipes 100mm dia PVC B Class	No	3.00		363.40	1090.2	Rupees One Thousand Ninety Paise Twenty Only
	4	47 P\	VC collar 100 mm	No	6.00	/	136.28	817.65	Rupces Eight Hundred Seventeen Paise SixtyFive Only
		-	P/F of PVC floor trap with Jali	No	4.00	1	181.70	726.8	Rupees Seven Hundred TwentySix Paise Eighty
		49 F	Providing and fixing G.I pipes B Class 20' Long complete with G.I fittings including all necessary fittings like Sockets, Tee, Reducer etc15mm dia nominal bore	th Mtr	er 60.00	- 1	253.38	15202.839	Rupees Fifteen Thousand Two Hundred Two Paise
	-	50	Providing & fixing water closet squating pan (English W.C Pan)with 100 mm and PVC "P"or "S" trap 10 ltr low leavel P.V.C flushing cistern of app make with manually controlled device with fittings Long Pan pattern white vitreous china W pan 580mm	l No	0 3.00	0	4846.71	14540.13368	Rupees Fourteen Thousand Five Hundred Fourty Paise Thirteen Only
	-	51	Water storage tank PVC tripple layer of approved brand wit all necessary fittings	th Li	it 2000	0.00	10.22	20441.25	Rupees Twenty Thousand Four Hundred FourtyOne Paise TwentyFive Only
	-	52	Stain less steel heavy duty Bib cock long nose	1	No 5.0	00	908.50	4542,5	Rupees Four Thousand Five Hundred FourtyTwo Paise Fifty Only
		53	Stain less steel heavy duty angle valve		No 4.	.00	863.08	3452.3	Rupees Three Thousand Four Hundred FiftyTwo Paise Thirty Only

Sı

5 6

2

### Magnan ha Fahelthetten af Wee Hadesta hy way of lagleg / fitting ,service Plantage - Flowbloom Finanter, Floate link forcing , sluice chamber ,separate follet black Auchio Block under IIIvi

			Part of the second			
	tri aŭjodi are	Hij	a ijlj	181 16	(615.)	Pupees (me thousand Six Hundred thurstive Paise thirty (mty
	d wint dermat with things	HH	h liti	atm.str	5151	Pupees Five Phonisand Fina Hundred Fifty me Unity
1375	ar († 1. októb alakos art aszypstir cstaks authoráp i sünglete allítása as talls amit fall tasi filmsjúnais hú hádiú tskipi adiak a fall alasta sasjá gullásakal sílésáll czaliplete id skiadstál hades a fallasti falsaksiy záped húrnini sílú szádás	1111	3 (d)	igaM) bb	799111	Kupees FuftyFline Thousand films Flundred SixtyCone Chity
N.S.	OT HIM Club a valya	W	h.h/1	11115 15	160001 \$	Purpes One Lakh Siz Encasand Ever Hundred UnetyFour Paise Fifty (mby
1111	en nun rede value	Ur	9/14	90%9.00	# ( T++5	Propees Fraktyl me Thorsand Seven Himdred SixtyFrve (mfy
estates 	elf IIIII 원회된 기에 II-	HH	Yetr	1164.45	5148.714	Rupées Pafry Ehonsand Eaght Hundréd SéventySix (mty
HH	िंदी र दिन्दी केमातिक असंभाष्ट्र और उन्हें कातृत्वम क्रमें महाविधे हैं ग्रहण है है। शामी क्षितीं क्षणि स्पति को कि कि मिल्कोरियाक एवं एक्सिक्ट क्षित्व करिया है है अर्थ विकास अर्थ कि विभागिकों और हो कि भी स्मान्तिक को अंगलेक्स एक्सेक्ट के कि सिंदी किसी मामा कि हम सुने क	114)	× 344	517845.1515	27255	Rimees I westyléven Invasand I wa klandted PatryPrve (mty
H	MH HIII FIL ERLIF	100	Kitty	1158.55	24112	Propées Twenty line Thomsand Seventy Two Only
k;i	F/L of Heating Founds	+111	nth	3491.15	\$ <b>\$\$</b> \$\$\frac{1}{2}\$	Pupees Pourteen Thousand Nime Hondred Nimery Paice TwentyFive Only
F. A.	Lightling (Addition	184)	19.649	418.51	227 V Z Š	Ringhes Extent/Extry Thomand Sexen Hundred Extent Entry Contry
tjd	F/1 1/1 YTHER HE JEET 1/1 J与 1 3.86944/	\$ Pry	1 / 141	rttiuts	3277	Rosen Telest Sons Totalsed Seaso Brindred Sea Only
A Commence of the Commence of	स्थापीट हे आगाम १८ प्रतिभागा इसमित्र के सम्बद्धामा १८ प्रतिभागा	KINI	vin	1014	1177 489 G	Designer (1 control of the control o

Jan.

Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Newtonian Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Subject:-Allotment for Construction of WSS Dadsara by way

Rupees Nine Thousar Block, Anchor Block under JJM Six Hundred Fifty Paise 9650.690244 458.25 SixtyNine Only 21.06 Supply & Stacking of stone screening /chippings at site cum Rupees Three Lakh excluding carriage 13.2mm nominal size Type A 66 TwentyFive Thousand Seven Hundred 325745.1643 FourtyFive Paise Sixteen Laying WBM with specified stone aggregate screening &458.25 710.85 cum binding material including screening sorting & consolidation Only 67 Rupees Four Thousand with PRR of 8-10 tonne capacity Seven Hundred TwentyNine Paise Fourty 4729.401163 480.14 9.85 cum Only Supply & Stacking of Moorum at site 68 Rupees Two Lakh TwentySix Thousand 226557.1875 Five Hundred FiftySeven Dismantling of pipe including stacking of serviceable material 2500.00 90.62 RM 69 Paise Nineteen Only Rupees SixtyEight Carriage of Materials By MT Stone agg. from for an avg lead Thousand Nine Hundred of 20 km 68907.68687 365.48 188.54 70 Cum Seven Paise SixtyNine Only Sand from for an avg lead of 20 km Rupees FourtySeven Thousand Eight Hundred 71 Cum 130.89 365.48 47837.73806 ThirtySeven Paise SeventyFour Only Cement from for an avg lead of 10 km Rupees ThirtyOne 72 Thousand Eight Hundred MT 140.57 226.81 31882.2635 EightyTwo Paise TwentySix Only Bricks from for an avg lead of 25 km Rupees TwentyNine 73 /1000nd 26.61 Thousand One Hundred 1095.04 29139.07574 ThirtyNine Paise Eight Steel from for an avg lead of 10 km Only 74 Rupees Eight Hundred MT 3.80 226.81 861.866695 SixtyOne Paise Stones from for an avg lead of 10 km EightySeven Only 75 Rupees Eight Thousand Cum 27.99 300.19 8402.222094 Four Hundred Two Paise Soling for 10 Kms lead TwentyTwo Only 76 Rupees TwentyTwo Cum 74.95 300.19 Thousand Four Hundred 22498.98342 NinetyEight Paise NinetyEight Only 77 Extra carriage of material from dumping site to site of work by Cum manual labour for 1000 mtrs lead Aggregates Rupees Five Thousand 6.03 979.56 5906.747671 Nine Hundred Six Paise SeventyFive Only

Xen n

ate Toilet

#### Motment for Construction of WSS Dadsara by way of laying / fitting ,Service Reserviour, Chowkidar Quarter, chain link fencing, sluice chamber, Separate Toilet Black Anchor Black under UM

23	Block, Afferior Block under JJIVI					
CHOUSE POIS	Sand	Cum	9.93	979.56	9727.032235	#NAME?
79	Cement	MT	2.06	418.33	861.7554946	#NAME?
80	Soling	cum	1.82	1152.37	2097.305992	#NAME?
81	Steel	МТ	0.42	898.63	377.4253867	#NAME?
	Total:-				Rs 1	38.143 lacs

Rates checked as per approved C/S

Head Draftsmam

#### Terms Conditions:-

- The cost of work in no case exceed beyond Rs 138.143lacs (Rupees one crore thirty eight lacs fourteen thousand & three hundred) only
- Bid decleration security @ 2% vide CDR No.324924 Dated:-17.05.2022 for an amount of Rs 3,04,000/- are being 2 retained as security deposit shall be released only after successful completion of the work expiry of defective period.
- Time of completion is essence of the contract. 3
- The work shall have to be started by you at site immediately and ensure its successful completion within a period of 05% 4 months from the date of issuance of allotment from this office strictly in accordance with the approved proposals falling which the work shall have to be got executed through any other means at your risk and cost, besides CDR deposited by you as security against this contract shall be forfeited. However date of start for laying and fitting of pipes will start within 07 days from the date of issuance of pipe material by the deptt.
- An agreement shall have to be drawn up by you with the department within a period of 07 days from the date of issuance of 5 allotment failure to execute such a formal deed shall not however prevent the contract from being enforced upon you.
- The allotted works shall be subject to check by the third party monitoring agency appointed by the department. 6
- 7 Payment shall be released as per actual / measured work done not less than 20% of the allotted cost on a monthly basis
- Performance security equivalent to 3% of the value of the contract shall have to be deposited by you in shape of 8 CDR/FDR/bank Guarantee within one week of issuance of allotment order and valid for a period of 3 months beyond the expiry of warranty period of the contract.

# Subject:-Allotment for Construction of WSS Dadsara by way of laying / fitting ,Service Reserviour , Chowkidar Quarter, chain link fencing , sluice chamber ,Separate Toilet Block, Anchor Block under JJM

- The firm shall be bound for satisfactory performance of works for 18 months after the successful commissioning of the works. If during warranty period any malfunctioning / defects arise, you shall have to rectify—same within a period of 10 works. If during warranty period any malfunctioning / defects arise, you shall have to rectify—same within a period of 10 works of receipt of intimation. In case of any failure on your part, the department may get the defects removed / repaired by any other means and cost thereof shall be recovered from you and shall be recommended for further punitive action as governed under the relevant clause of the contract including black listing.
- Pre & post Geo-tagged photographic evidence be taken during the execution of the work and shall have to be produced at the time of submission of the bill.
- The quantity aflotted shall have to be executed on ground strictly as per the estimates that have been framed in the DPR for the item of "laying fitting Service Reserviour, Chowkidar Quarter, chain link fencing, shuice chamber Separate Toilet Block, Anchor Block."
- 12 All other terms and conditions shall be applicable as laid down in standard bid document and PWD from No. 25/33.
- Any rules / terms and conditions if not stipulated in the bidding documents, shall be strictly dealt in accordance with the relevant rules / guidelines stipulated in General Financial Rules (GFR-2017) and manual for procurement of works 2019 G.O.I.

Head Draftsman

Executive Engineer
(JSD) PHE Division Awantipora

(anda)

#### Copy to the:-

- 1) Chief Engineer PHE Kashmir Jal Shakti Department, Kashmir Srinagar for information.
- 2) Superintending Engineer Hydraulic Circle Pulwama H.Q Shopian for information.
- 3) Assistant Executive Engineer Sub Division Tral for information necessary action. He will ensure the completion of work within the stipulated period strictly in accordance with approved proposals within allotted amount shall in no case exceed the allotted amount.
- 4) Assistant Accounts Officer PHE Division Awantipora for information
- 5) H/D Divisional Drawing Branch for information
- 6) Office File